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Reading 3—5 passages, 12—14 questions each 60—100 minutes
s s 4—6 lectures, 6 ti h .
Listening ectures . duestions e.ac 60—90 minutes
2—3 conversations, 5 questions each
BREAK 10 minutes
Speaking 6 tasks: 2 independent and 4 integrated 20 minutes
.. 1 integrated task 20 minutes
Writing . s
1 independent task 30 minutes
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seen, fxfa, ICMAIBIERR M EA — Help @, BA S HXMERZF B SBH a list of

topics for which helpful explanations are available,

AT BB B AE 5B CRESIARA 17 41 AR 3R/ X D) «

Tool Bar
The tool bar in each section allows test takers to navigate through the test with ease. Below
are examples of tool bars from the Listening and Reading sections of the new test. The

section is always listed in the upper left-hand corner of the tool bar.

This is what the tool bar looks like on the Listening section.
TOEFL Ustening r ’nu\ & ™ .nn‘y"\

Question 15of 17 mosnwe . 00 : 19; 53

» Test takers always know what question they are on and how much time is remaining in the
section, It is possible to hide the clock at any time by clicking Hide Time.

+ Volume allows test takers to adjust the volume of the Listening maternial.

» Help allows test takers to get relevant help. When test takers use the Help feature, the
clock does not stop.

* Next allows test takers to proceed to the next question,

* Once test takers click Next, they can confirm their answers by clicking OK. In the

Listening section, test takers cannot see a question again once they click OK.

The tool bar for the Reading section has some different features.

TOEFL Reading

Question 12 of 12

+ Test takers can view the entire passage when answering questions. For some questions,
they need to click View Text to see the entire reading passage.

» They can view all their answers by clicking Review. This allows them to return to any
other question and change their answers. They can also see which questions they have
skipped and still need to answer.

+ In the Reading section test takers can also click Back at any time to return to the previous question,

2. A A KRS OXEFRAE MBHKTRA X
Reading Section Format

er of Passages
3—>5 passages
12—14 questions per passage

(N TNl

60—100 minutes

Approximately 700 words
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3. MIBRFXBELE P FRIACHLEME LG LE

FHBRESSE —TEEFFHMARIBEFR: A word in blue in a passage indicates that a
definition is available for the word. Clicking on the word brings up this definition, H#L5{ 2%
FLRTERECETALRBI A BN E WAL, BE2HLEA, A RESA LT RIRNE
R, BRI SR BT A M X T Language Use H[RIREHR 2 Xt SCEE H #9— N BLH] . —
MERE— T BREFERE, AN FHEFE S 4E L& — DB & A% AR
Whenever a question refers to a particular word or sentence in the passage, the word or
sentence is highlighted. You don not need to search for it. Detail questions on TOEFL iBT
identify the particular paragraph in which the answer can be found, so you do not need to
scan the passage in order to find the location of an answer to a detail question. HLgE R IEFTFE
R PR H £ % Language Use [RIEIENM MIFES X K KPR T BB A S HXERE .

4. #3eid A K 0 ik 3R o P 45 F L A (distracter) 898 £

ot F A 3 ARINEANEEFILREERE Xt RENAVEBALAHTEE
BT XM TEEASHERE. ETS AT A8 HYEE FS— V6, KRBT 2K T
EIRHE BB E RE R, KA H GRE Bikffas, AUTRETHE, THEGH BHEAE
T ,%tF Paraphrasing MR B8 TL AR,

5. #iidE X MiERo MR HX S 4, 518 S HAL

EHFFCR PR EEE RS =F.
(1) Click on One Answer: For this multiple-choice type of question. you will choose the best

of four possible answers, 28 H R &SN E—EH, HAHER 1 R0

M v Av
bty armows and spears  This opinion also atempts 10 solve the
overpainting by explaining that an animal's picture had no further
use after the hunt
O To explenn the state of consciousness the arbists were in when =P A third opinmon takes psychologizal motivation much further into

they painted thair pictures the realm of ibal ceremonies and mystery the Deljef that cenain,
animals assumed mythical signtheznce as ancient Ancestons of
protectors of @ given tnbe of clan — wo typas of Images
substantiate this theory the strange, mdociphorable geometnd

According to paragraph 5, why do some scholars refer 10 a vance
state to help understand the cave paintings”

O 1o demonstrate the mythical signihcance of the strange
genmetnc shapes

() Toindicate thet Tence states were often associated wath s that anpoar near corme ammle, and the fow deamanns of
activites that took place Inside caves men Wherever men appear they aie crudesty draven and then
bodies are elongated and naid  Some men are in 8 prone position
O 1o giver i possibie reason for the Srange appedance « il the men : S ongete: = = Pre P

and some have bird or animal heads Advocates for this opinion
point 1o reporns from people who have expenenced a trance state
8 highly suggestive state of low ¢ ousness between waking
Faragraph & is marked with an arrow (=] and sleeping Uniformily, these people expenience
veenghtiessness and the sensation that their are Deing
stretched lengthwise  Advocates also paint to pe who beheve:
thast the: lorces of mture are inhabiled by spints, particutarky

painted on the cave walls

chamang who belev that an ammal's spint and onergy 15
ransferred o them while in arance  One Lascaux narative
picture, which shows 2 man wath a birdhike head and a wounded
animal, wousd Seem 1o lend Cradenos 10 s hird opmon, Fat ENes e
15 shil rmuch that remenns unexpliained  For axample where 15 the
proof that the man i tho prctune s @ shaman? Ho could as vasily
be & hunter weanng @ headmeask  ary Inbel hunters, including
some Native Amencans, camoufiaged themselves by weanng
animal heads and hides
shamans: holy people who act as healers and diviners Fermaps $0 much tme has passed that there will never be
sanstactory answers to the cave images, but thewr mysbque only

dds to their importance  Cenainly a great an exsts, and by its
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(2) Add a Sentence: For this type of question, you will click on a square to add a sentence to
the passage. XFEARFEMXE DA 4 M[(R])” R58 B4 H 4 — A&, 7% 45X 4
NOZHEE SCRE AR (7 7. — R B H B8 a1 5 R X Y : Look at the four
squares [ ] that indicate where the following sentence could be added to the passage, 2

B MEDRR 1 55

(3) Drag Answer Choices: HSBITEMEE L B K SAETEARER S EM, iR
P AN R ERERBMEN ARG . HAEREAAX TS A AE, S EESHEE
RER BBk

(D Summarizing the Most Important Points fiAY .

5 B RYR ] 7 A R IXHERY : An introductory sentence for a brief summary of the passage is
provided below, Complete the summary by selecting the THREE answer choices that express the
most important ideas in the passage. Some sentenced do not belong in the summary because

they express ideas that are not presented in the passage or are minor ideas in the passage. iX

REATEZETEAEMTEERBENEEWAMER. 5EN 2 o BEFES MM T .

Points Possible Answers Correct Points Earned
3 points 3 2
2 1
0—1 0

FEEL AT

Directions: A tnroductory sentence for @ bnef summary of the passage (s provided beluw Cumplete e summay by selecting the THREE
SNSWET CHOICES TNAL ExPress the MOost IMpPOortant 10eas in the passage Some sentences do not DEIONG IN the summary because ey express

tdeas hal are not presenteg in e pessage of are mmor idess in he passage  This question is worth 2 points.
Dﬂdmwmuummmm 10 review te passage, click on View Text.
Scheolars have wondered about the ing of the subj ‘ , and overpainting of Lascaux cave images
| ]
{
.
{
|
|
l

Answer Cholces

Ine pantings may Nave recorded iINformation 3dout animal migratons Unhis@ painters of the recently giscoveresd paintings, other Lascaux
arud migy onty have been useful for one migration at a tim: Cavr prgitder s usuatly patrded on rookn nean Coe entrance on m
open spaces cutside Ne caves

I ne numan Ngures représented in the pantings appear to be less Some Scholars pekeve tat the panbings motivated nunters by
Caretully shaped fan those of animets atlorasng them to pecture & suceessial hue

115 possible that the animals in the paintings were of mythicas) Screnific analysts suggests that painlings were sprayed unto the rock
UGNINCANCE 10 the INDE, ANa the PAINLINGS renected an iImportant walls with tbes made from animal Dones

sl practice
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@ Understanding details as they relate to the main idea (schematic table) i,
WRBR FEEE T HAM TEMEEFRNEE, HIRE R 2 Select the appropriate
sentences from the answer choices and match them to the type of—that they describe. TWO
of the answer choices will NOT be used. #B#& answer choices BI$E .7 ik 5 e ¥ 9 4
Pk 7 NEZE L HAMBAMER 3 R . BAKES LI .
Points Possible Answers Correct Points Earned

3 Points

Lo
O = NN W

4 Points

=~

AEERXMT

TOEFL Reading

Directions: Select the appropnate phrases from the answer choices and match them to the type of organism 1o which they
relate  TWO of the answer choices will NOT be used This question is worth 4 points.

Drag your answer choices to the speces whérethey belong. To reviewths passage, click cn ViewText
Answer Choices Opportunists

Vary frequerntly the amount of snergy they spend in body

maintenance e
Have mechansmes for protechng themseaives trom predahon -
Succeed In locabcns where other organisms have been
removed o
Have relabvoly short Mo spany
Nvest energy In the growth of large. strong structures ®
Have poputations that ars unstabie in reasfpnse to chmate

e
condivons .
Cantn raatey tinct sendatite soil tor tapeodection Competitors
Produce indimdugs that can wathstand changes in the
environmental condinons ®
Reproduce 1n large numbers

L
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FemE i R WM mT 4 AR, 53 5 B Paraphrasing A (R X R EER),
Understanding Coherence %) (3§ A ] T &8I #4) , Organization Information R (Z5#) (5 2%
%) 1 Summarizing the Most Important Points iRl ( 5T E W SERD

W% TR R R S

Academic Reading Skills

The Reading section measures test takers’ ability to understand university-level academic
texts and passages. In English-speaking academic environments students are expected to read
and understand information from textbooks and other types of academic material. Below are

three possible purposes for academic reading.
Reading purposes include

(1) Reading to find information, which involves
+ effectively scanning text for key facts and important information

+ increasing reading fluency and rate

(2) Basic comprehension, which requires the reader to
« understand the general topic or main idea, major points, important facts and details,
vocabulary in context, and pronoun references.

+ make inferences about what is implied in a passage

(3) Reading to learn, which depends on the ability to

+ recognize the organization and purpose of a passage

« understand relationships between ideas (for example, compare-and-contrast, cause-and-
effect, agree-disagree, or steps in a process)

« organize information into a category chart or a summary in order to recall major points and
important details

+ infer how ideas throughout the passage connect

The TOEFL iBT test includes three basic categories of academic texts. The categories are

based on the author’s objectives:

- Exposition
» Argumentation

« Historical biographical/event narrative
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Test takers do not need any special background knowledge to correctly answer the questions
in the Reading section; all the information needed to answer the questions is contained in the

passages.

Test takers must read through or scroll to the end of each passage before receiving questions
on that passage. Once the questions appear, the passage is located on the right side of the

computer screen, and the questions are on the left.

B AT Ek  SFE AR B E RS B8 P RS IS S B H RSN, E RV AR I
SHEEGER, RA TR E S S A I R H A TR SR IR FARE SR AT )
BEAE YN AERICEREEFRMNESN. EFEQEUTILAEER.

@ AICE . EEIRERE T XERFTIAMEIENES . XFEREEEAK B LERE
XERFAAEBM =42 — BB EMERER.

O XA ZEEFAENAS LA EEEIH L RETIEA/ G BREANXROGED.

@ HIFHEMLE. EEEFANEXE PR HTERFIEENERNE FFAZMBRT
M, LR | F RS A EARNE RS

@ EIEH. E A IRERAEE N AEE A BT HE N AT Z RS XA B
RENELRE RN ZRESEMN— SRR, TEE %, BERgULs 5 LTHA
B FE KA GRS R R . XRHER, AR MR, BRI EN.

® FU{ZRE. HEEFMEXEFRENGER R TREEFENES . EENES

BEEHEEFNEERE - SXEPEMNAFRIIMMXR, WERARAE

B E Bk BR T 28,

@ i iRHMA . 7 AR AR SOE R I RO 4F B, IR o ) S R IR B IE B R LE R AR IR
MB X ERARIKEER.

@ it E AR A A A VI H R BHRR R EORT . S SRS T
HES T AL T 1] 2 LS RO . IR SO A R SRS AR AT B A R LB A9 B ah 2 A
2, MR CHA MRS B R, 0 ER T B R HEC H B R IASIE. i
BRARESER, BRERK FEFELERIRHES.

@ LHEME.LEREEIREVENBH IR FRAREEENBNMES . BREEK
BAMEMBETAFIER BB R B /Y,

7 HE 48 D20 T R R (L B SR AR RDIE R I N A S AR RO T H
ERIAE CEMEMRHE . BB, ERE X ENE BRSNS X
A EEMKEWA MENS SERANE BEE IR R XR . B R X RMLIEFE#
M., ERESBEEXAR . FHAXESERENPOBEMELIRHER. HERA
RO A KRS, NTITER RS SN ABM LR B, MEREEBATERRMICL
BEHE QI IR GO . IR AR Sk PR — MESR, R AR REAR
R EATOBERMEEEER. T EEENAERERIEEEREKE B2 3CH
A BEIEE, XA EEER - FEFRER, EERNRE SN RTS8



8 mrean - Wik

ME SV S, B RN AABEA PR, © ERAEUT L BRI,

@ RELGH. FHEEEFAEMSREPOCRENMXEEFERNESN. BHEEL Xy EEM
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In this section you will read three passages and answer reading comprehension questions
about each passage. Most questions are worth one point, but the last question in each set is

worth more than one point. The directions indicate how many points you may receive,

You will have 60 minutes to read all of the passages and answer the questions. Some
passages include a word or phrase that is underlined in blue, Click on the word or phrase to

see a definition or an explanation,

When you want to move on to the next question, click on Next. You can skip questions and
go back to them later as long as long as there is time remaining. If you want to return to
previous questions, click on Back. You can click on Review at any time and the review
screen will show you which questions you have answered and which you have not. From this
review screen, you may go directly to any question you have already seen in the reading

section.

Reading 1

Opportunists and Competitors

= Growth, reproduction, and daily metabolism all require an organism to expend energy.
The expenditure of energy is essentially a process of budgeting, just as finances are
budgeted. If all of one’ s money is spent on clothes, there may be none left to buy food or
go to the movies. Similarly, a plant or animal cannot squander all its energy on growing a
big body if none would be left over for reproduction, for this is the surest way to

extinction,

All organisms, therefore, allocate energy to growth, reproduction, maintenance, and
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storage. No choice is involved; this allocation comes as part of the genetic package from the
parents, Maintenance for a given body design of an organism is relatively constant. Storage
is important, but ultimately that energy will be used for maintenance, reproduction, or
growth. Therefore the principal differences in energy allocation are likely to be between

growth and reproduction.

Almost all of an organism’s energy can be diverted to reproduction. with very little allocated
to building the body. Organisms at this extreme are “opportunists. ” At the other extreme
are “competitors,” almost all of whose resources are invested in building a huge body. with a

bare minimum allocated to reproduction.

Dandelions are good examples of opportunists. Their seedheads raised just high enough
above the ground to catch the wind, the plants are no bigger than they need be. their stems
are hollow, and all the rigidity comes from their water content. Thus, a minimum
investment has been made in the body that becomes a platform for seed dispersal. These
very short-lived plants reproduce prolifically; that is to say they provide a constant rain of
seed in the neighborhood of parent plants. A new plant will spring up wherever a seed {alls
on a suitable soil surface, but because they do not build big bodies, they cannot compete
with other plants for space, water, or sunlight. These plants are termed opportunists
because they rely on their seeds’ falling into settings where competing plants have
been removed by natural processes. such as along an eroding riverbank, on
landslips, or where a tree falls and creates a gap in the forest canopy.

Opportunists must constantly invade new areas to compensate for being displaced by more
competitive species. Human landscapes of lawns, fields, or flowerbeds provide settings with
bare soil and a lack of competitors that are perfect habitats for colonization by opportunists,

B (A) Hence, many of the strongly opportunistic plants are the common weeds of fields and
gardens. Il (B)

Because each individual is short-lived, the population of an opportunist species is likely to be
adversely affected by drought, bad winters, or floods, Il (C) If their population is tracked
through time, it will be seen to be particularly unstable-—soaring and plummeting in

irregular cycles. ll (D)

= The opposite of an opportunist is a competitor. These organisms tend to have big bodies,
are long-lived, and spend relatively little effort .each year on reproduction. An oak tree is a
good example of a competitor. A massive oak claims its ground for 200 years or more,
outcompeting all other would-be canopy trees by casting a dense shade and drawing up any

free water in the soil. The leaves of an oak tree taste foul because they are rich in tannins, a
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chemical that renders them distasteful or indigestible to many organisms. The tannins are
part of the defense mechanism that is essential to longevity. Although oaks produce
thousands of acorns, the investment in a crop of acorns is small compared with the energy
spent on building leaves, trunk, and roots. Once an oak tree becomes established, it is likely
to survive minor cycles of drought and even fire. A population of oaks is likely to be
relatively stable through time, and its survival is likely to depend more on its ability to
withstand the pressures of competition or predation than on its ability to take advantage of
chance events. It should be noted, however, that the pure opportunist or pure competitor is
rare in nature, as most species fall between the extremes of a continuum, exhibiting a blend

of some opportunistic and some competitive characteristics.

1. The word squander in the passage is closest in meaning to
(A) extend

(B) transform

(C) activate

(D) waste

2. The word none in the passage refers to
(A) food

(B) plant or animal

(C) energy

(D) big body

3. In paragraph 1, the author explains the concept of energy expenditure by
(A) identifying types of organisms that became extinct

(B) comparing the scientific concept to a familiar human experience

(C) arguing that most organisms conserve rather than expend energy

(D)) describing the processes of growth, reproduction, and metabolism
Paragraph 1 is marked with an arrow [ =],

4. According to the passage, the classification of organisms as “opportunists” or “competitors”
is determined by

(A) how the genetic information of an organism is stored and maintained

(B) the way in which the organism invests its energy resources

(C) whether the climate in which the organism lives is mild or extreme

(D) the variety of natural resources the organism consumes in its environment

5. The word dispersal in the passage is closest in meaning to
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(A) development
(B) growth

(C) distribution
(D) protection

6. Which of the sentences below best expresses the essential information in the highlighted

sentence in the passage? Incorrect choices change the meaning in important ways or leave out

essential information.

(A) Because their seeds grow in places where competing plants are no longer present,
dandelions are classified as opportunists.

(B) Dandelions are called opportunists because they contribute to the natural processes of
erosion and the creation of gaps in the forest canopy.

(C) The term opportunists applies to plants whose seeds fall in places where they can
compete with the seeds of other plants,

(D) The term opportunists applies to plants whose falling seeds are removed by natural

processes.

7. The word massive in the passage is closest in meaning to
(A) huge

(B) ancient

(C) common

(D) successful

8. All of the following are mentioned in paragraph 7 as contributing to the longevity of an
oak tree EXCEPT .

(A) the capacity to create shade

(B) leaves containing tannin

(C) the ability to withstand mild droughts and fire

(D) the large number of acorns the tree produces

9. According to the passage, oak trees are considered competitors because

(A) they grow in areas free of opportunists

(B) they spend more energy on their leaves. trunks and roots than on their acorns
(C) their population tends to increcasc or decrease in irregular cycles

(D) unlike other organisms, they do not need much water or sunlight

10. In paragraph 7, the author suggests that most species of organisms
(A) are primarily opportunists

(B) are primarily competitors



